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= 118,044
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—24E 222 H& 10,000& 2505 2,500
OoEBRIAAS BALY
100, 000& 10 »23] 2,000
OIl=sgl(12021 20| SH) 200, 000& 2 x13] 400
O3gdl(120212D|1sH) 7,000 x2F 60 840
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= 4,985
= 4,985
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= 4,985
2 4,985
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= 814,500
2 1,202,698
WaH=T e X2 133,000 47,200 85,800
201 Yere | 1,000 0 1,000
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1,500,000
900,000
180,000
420,000
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01 Al&H| 131,500 211,000 AT9,500
S22 WA 900, 000& *75IH £ 67,500
=802 Jt2s 4Xl 30,000
OJIEFE XIHI 4,000
OJI2& 22l HolgHolA 25 30,000
Y2 ZH (Mot} 54,375 54,375 0
Jl23&| 54,375 54,375 0
JI2ZH (et E) 28,875 28,875 0
201 LBt A 11,275 11,275 0
01 AtER22|H] 11,275 11,275 0
OZN2ZE Let=2H| 750,000& 128 9,000
ONZE =&l 7,000 x 13 254! 2,275
202 O4dl 14,600 14,600 0
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